Note: given the fact that you’re ‘obliged’ to answer the weekly questions, try to profit the most from the task:

- Start by reading the lecture notes.

- Looking at them as little as possible, answer the questions.

The answers to Week 9’s questions should be handed to me at the beginning of Thursday’s lecture of 18th of May. They should be manuscript (not typewritten) and preferably based on schemes (as I do in the whiteboard). Keep a copy for yourself.

Please write WEEK  9 in bold at the beginning of your answers.

Week 9

1.a) What is meant when it is asserted that there is a stock market bubble? b) Why did economists use to consider  that CB’s should not try to prevent stock market bubbles?

2. What is the price-adjusted earnings ratio (PSP500/Eaj)? If this is equal to 10, what can we conclude about the average profits of SP500’s companies over the previous 10 years? Justifique.

3. Past technological revolutions have increased labour productivity, but not capital productivity nor the profit share.  As a result of this, we can conclude that past technological revolutions have not increased the profit rate. Why?
4. If technological revolutions don’t lead to an increase in the profit rate, what should be the ‘correct’ behaviour of the SP500 during those periods? Explain.

5. Using a numerical example, explain how an investor can try to profit from the forecast that a stock market bubble will burst next year.

6. “Even if an investor is sure that stock prices are above their fundamental values, it’s possible that he won´t employ an investment strategy that will make him profit from the eventual future decline in stock prices. Do you agree? Explain.
7.“Even if a manager of a mutual fund is sure that stock prices are above their fundamental values, it’s possible that he won´t employ an investment strategy that will make his fund profit from the eventual future decline in stock prices. Do you agree? Explain.

8. Once it recognizes a stock market bubble is developing, the CB should not react by raising interest rates.

a) Why not?

b) What should then the CB do? Explain
9. Consider the case in which an individual investor buys a share of 100$ from a mutual fund that afterward invests the money in a short-selling strategy. Explains the various consequences that may arise if the price of the stocks subject to short-selling rises from 100$ to 110$.


(There will be some questions about this issue in the 2nd test)
